5. BEXADKR(ER2EE)

B A
" H DR TR - fth 7 B ~ s
. 1¢Eﬂ%%ll\m%%@ﬂﬁﬁhulﬁ%ﬂ%ﬁﬁg% D hE S
B | 45 A 7 h BT A 54 758 13 4 7 79 915
LA 1 924 34 75 113 1,156
8 5\ 2 173 42 31 292 283 823
= &t 57 1,855 89 44 374 475 2,894
IK |7 15 77 £ 1 BT 211 104 8 1 0 93 417
LA 0 106 15 9 9 102 241
= 8 51 0 0 0 6 51 153 210
) &t 211 210 23 16 60 348 868
1E | 15 FF 72 7 BT R 4 156 0 0 0 0 160
LA 0 278 0 0 3 2 283
] 5 0 111 0 0 9 10 130
= &t 4 545 0 0 12 12 573
a Hi 272 2,610 112 60 446 835 4,335
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B FH, %
IH H & Hi *x &t =] fF

X 4 & L) e = o L) e =& & %8 [ =3
S % 61,365,707 100.0 41,777,378 68.1 19,588,329 31.9
2 ¥ 95,745,657 100.0 13,514,939 52.5 12,230,718 475
o0 i 761,387 100.0 439,343 57.7 322,044 42.3
= =t 87,872,751 100.0 55,731,660 63.4 32,141,091 36.6
K g % 23,633,729 100.0 7,216,934 30.5 16,416,795 69.5
A P 15,638,200 100.0 235,055 15 15,403,145 98.5
& O i 13,988,831 100.0 2,653,228 19.0 11,335,603 81.0
) E 53,260,760 100.0 10,105,217 19.0 43,155,543 81.0
1€ |4 1t 3,170,783 100.0 1,495,145 47.2 1,675,638 52.8
&k it 228,464 100.0 125,391 54.9 103,073 45.1
O 61,734 100.0 32,408 52.5 29,326 475
= E 3,460,981 100.0 1,652,944 478 1,808,037 52.2
=) & 144,594,492 100.0 67,489,821 46.7 77,104,671 53.3
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X % ® & te ® & te ® % =
= 5 *® 61,365,707 100.0 8,005,461 13.0 53,360,246 87.0
) = 25,745,657 100.0 1,498,956 58 24,246,701 94.2
e D fth 761,387 100.0 99,616 13.1 661,771 86.9
-1 £t 87,872,751 100.0 9,604,033 10.9 78,268,718 89.1
X it y::} 23,633,729 100.0 2,062,997 8.7 21,570,732 91.3
o -] 15,638,200 100.0 3,272,615 20.9 12,365,585 79.1
B e ) fth 13,988,831 100.0 0 0.0 13,988,831 100.0
) £t 53,260,760 100.0 5,335,612 10.0 47,925,148 90.0
(3 1] iE 3,170,783 100.0 1,185,454 37.4 1,985,329 62.6
£ 1E 228,464 100.0 155,647 68.1 72,817 31.9
e ) fth 61,734 100.0 19,734 32.0 42,000 68.0
= £t 3,460,981 100.0 1,360,835 39.3 2,100,146 60.7
= H 144,594,492 100.0 16,300,480 11.3 128,294,012 88.7




